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-52
. Find the transpose of matrix A = [ 5 3 ]

o[le el e [B]e[h]
. Which of the following is an identity matrix ?

(i [12] (il (1)11] (i) (1)_01] (iv) [(?;(1)] (v) [(1)(1)]

565

. The number of rows in matrix A=| 465 | is

454
() 3 (i) 4 (i) 5 (v) 2 (v) 1

6-5
. The number of columns in matrix A = [ 3.4 ] is

(i) 3 (ii) 2 (i) 0 (iv) 4 (v) 1

-2
. The order of matrix A = [ 4 ] is
1

(i) 3x2 (i) 2x1 (iii) 4%x1 (iv) 3x1 (v) 1x3

. Which of the following are true?

a) A column matrix is a square matrix
b) A null matrix is a square matrix

¢) An identity matrix is a square matrix
d) A row matrix is a square matrix

(i) {c} (i) {d,a,c} (i) {b,c} (iv) {a,c}

. Which of the following are true?

a) A scalar matrix has all elements with same value
b) A1 x 1 matrix has only one element

c) A unit matrix has only one row and one column
d) A zero matrix is a square matrix

(i) {a,c,b} (ii) {b,c} (ii) {a,d,b} (iv) {a,b} (v) {d,c}



8. Which of the following are true?

a) If a matrix is symmetric, then it is a square matrix
b
C

A rectangular matrix cannot be symmetric
A matrix is symmetric if the principal diagonal elements are same

)
)
)
d) If a matrix is symmetric then it is equal to its transpose

(i) {c,d} (i) {c,b} (i) {ab,d} (iv) {c,a} (v) {cab}

9. If the transpose of a matrix is equal to its additive inverse, that matrix is called ?

(i) identity matrix (ii) symmetric matrix (iii) scalar matrix (iv) skew symmetric matrix

10. Which of the following are true ?

a) A square matrix whose determinant is zero is called a non-singular matrix
b
C

A square matrix whose determinant is zero is called a singular matrix
Rectangular matrices can also have determinants

)
)
)
d) Only square matrices have determinants

(i) {a,b} (i) {c,d} (i) {a,c,b} (iv) {a,d,b} (v) {b,d}

11. If the elements of matrix A are multiplied with -1, we get
(i) multiplicative identity of A (ii) additive identity of A (iii) additive inverse of A

(iv) multiplicative inverse of A

12. If the elements of matrix A are multiplied with 0, we get

(i) additive identity of A (ii) multiplicative inverse of A (iii) additive inverse of A

(iv) multiplicative identity of A

13. Which of the following are true?

a) A scalar matrix is an identity matrix

¢) An identity matrix is a scalar matrix

)
b) An identity matrix is a square matrix
)
d)

A null matrix is a scalar matrix

(i) {b,c} (i) {a,d,b} (i) {a,c,b} (iv) {a,b} (v) {d,c}

14. A4 X 3 matrix has

a
b
C
d

4rows and12columns
3rows and4columns
4rows and 3 columns

)
)
)
) 7rows and 3 columns

(i) {b,c} (ii) {a,c} (iii) {d,a,c} (iv) {c}

15. Which of the following are true for matrices Aand B ?

a) If A and B can be multiplied, they must have the same order
b) If AB=0,A=0o0rB=0orboth A and B are zero matrices
c) If Aand B can be added, they must have the same order

)
)
)
d) The orders of (AXB)and (B XA) are same

(i) {c} (i) {a,c} (i) {b,c} (iv) {d,ac}



16. If(A+B)= 0, then

A is the additive inverse of B
b) B is the additive inverse of A
c) Ais the additive identity of B
d) B is the additive identity of A

a

)
)
)
)

(i) {a,b} (ii) {c,a} (iii) {c,d,a} (iv) {c,b,a} (v) {d,b}

17. Which of the following is a square matrix?

6619
995
266 7453 7553
(i) [872] (ii [3549] (i) [647 (iv) [595 (v) [2439]
i ii iii iv v
363 559
111 9577 5737
856
7321
18. Which of the following is a rectangular matrix?
2173
986 8861
. . 31 . 4182
(i) [2] (ii) [324] (i) ] (iv) [9118] (v) [
94 5685
674 3889
6472

19. Which of the following are true ?

a)IfAB=0,thenA=0o0orB=0orbothA&Bare0
b) If matrices A & B can be multiplied, they must have the same order
¢) The order of (AXB)and(BXA)is same

)

d) If matrices A & B can be added, they must have the same order

(i) {a,d} (i) {b,d} (i) {cad} (iv) {d}

20. Which of the following are true for matrices A, Band C ?

a)
b)
)
)
)

—

AXB)=(BXA)
A+B)XC=(AXB)+(AXC)
X(B+C)=(AXB)+(AXC)
AX1)=(IXA)=A
X(BXC)=(AXB)XC
AXI1)=(IxA)=1

> o

d
e
f)

> o

—

(i) {fa,e} (ii) {b,cd} (i) {cde} (iv) {a,c} (v) {b,d}

21. Which of the following is a row matrix

5

o [:] o [=2] 0 [] o [3] 2]

8

22. Which of the following is a column matrix

469

7
(i) [z::] (ii) [:] (iii) [2331] (iv) [751] (v) [31]



23.

24.

25.

26.

Which of the following is a diagonal matrix ?

U)[090] m)[

-500

00-5

-5

03

00-5

The principal diagonal elements of the given matrix

-2-3
[-5 9

(i) -3

are

)

(ii) -2,-5 (iii) -2,9

(iv) -3,9

The principal diagonal elements of the given matrix

-6 2

-2

[8 1-9]are

4-8

(i) -2,1,4

-3

(i) -6,1,-3

(iii) -6,-2,1

(iv) 2,8,-8

-75
If A= [ 38 ] and the sum of the values of

elements of matrix kA =

(i) 7

(i)

8 (iii) 5

(iv)

-91, find k

10 (v)

6

-50-5

-500

090] m)[ogo] m)[ogo] w)[ogo]
00-5 500 50-5 30-5



Assignment Key

1) (i) 2) (v) 3) (i) 4) (ii) 5) (iv) 6) (i)
7) (ii) 8) (iii) 9) (iv) 10) (v) 11) (iii) 12) (i)
13) (i) 14) (iv) 15) (i) 16) (i) 17) (i) 18) (iv)
19) (iv) 20) (iii) 21) (ii) 22) (ii) 23) (i) 24) (iii)
25) (ii) 26) (i)
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